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QUESTION 1

Which statement describes IBM Cognos Bl architecture?

A. Communication between components is SOAP on HTTP Protocol.

B. The BIBus is the communication tier of the IBM Cognos Bl architecture.

C. The two-tiered architecture is component based and typically separated by firewalls.

D. The content manager consists of a set of protocols governing communication among IBM Cognos Blservices.

Correct Answer: A

QUESTION 2
When the default active Content Manager fails, which of the following occurs?

A. The system automatically activates all standby Content Managers, and spreads the load of requests based onthe
Weighted Round Robin load balancing mode.

B. The system automatically activates all standby Content Managers and spreads the load of requests across them all.
C. The system automatically switches to a standby Content Manager, and requests are directedto it.

D. Users are prompted to rerun failed requests on the initial Content Manager once it is back on line.

Correct Answer: C

There are 2 load balanced report servers.

The dispatcher on Computer X has the following characteristics:

RAM: 1024 MB
CPLU: Dual P4 1.5 Ghz
Hard drive: 80 GE

The dispatcher on Computer Y has the following characterisics:

RAM: 2045 VB
CPU: Dual P4 28 Ghz
Hard drive: 80 GE

What would an administrator set the processing capacity on Computer Yto?
Al
B. 2
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D.8

QUESTION 3

In IBM Cognos Connection, how can an administrator specify different prompt values and run options for a report
without modifying the report itself?

A. Schedule a report.

B. Create a report view.

C. Produce a report output.
D. Burst a report.

Correct Answer: B

QUESTION 4

A user must be able to only view the contents of the Americas Inventory folder. What permissions must be granted to
the user for the folder?

A. Write
B. Execute
C. Traverse
D. View

Correct Answer: C

QUESTION 5

Which is a function of the first tier in the IBM Cognos Bl architecture?

A. Authenticate users to the correct namespace.

B. Pass requests to a IBM Cognos Bl dispatcher for processing.

C. Render the IBM Cognos Connectionand Metric Studio interfaces.

D. Start IBM Cognos Bl services configured and enabled on a computer.

Correct Answer: A
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